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A projectile is projected at an angle oegree with the horizontal with kinetic energy
Find the kinetic energy of the projectile at the highest point. @:
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Find total work done from A to E

@ 3P,V i A&; W, = — P> 2V = - 4PNV
= ovVo ’/

3PV, = PN. - ATAVA .

- \— S? \'g ‘ .
@ 2P,V, @ V, 2V, \, 3V,
@ 5P,V
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[f angle of prism =|angle of min. deviation! Given pu =+/3, then angle of prism ?
' -£ | vedion
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Statement 1: Graph of frequenc@ofX ray and atomic number Z of heavy nucleus is
straight line, in X ray emission.

Statement 2: Graph of square root of frequency \/7 of X ray and atomic number Z of

025

heavy nucleus is straight line, in X ray emission. Ch'- Alomic Shucture
@ Statement 1 is correct and statement 2 is correct , | = A( Cas b)
—

P

atement 1 is incorrect and statement 2 is correct

@ Statement 1 is correct and statement 2 is incorrect

@ Statement 1 is incorrect and statement 2 is incorrect



JEE

LIVE "\ JEE MAIN 2025 PAPER DISCUSSION V%50

STREAM
Find charge on capacitor ifsteady state Cureat Electn °'4
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In a series LCR circuit, inductance L = 0 mH and capacitance C = 8 nF. The angular

frequency of the source whe{ current has maximum amplifudein the circuit is.
| A [dernedimg Curren)-]
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A satellite is bine times hoser to earth compared to moon. Time period of moon is
27 days then period of satellite is [GYQV;h{im "ed"”j]
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A(rﬁirror)of focal length f is place in medium of refractive index p. The focal length of
mirror will become

lod [ Rey optien €]
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The value of E; isnd c is|3 x 10® nj/s. Find the value of B.

[E—‘ M Wave , E'Mﬂ
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Two charges @and - 4C are located at (-7, 0, 0) and (7, 0, 0), find electrostatic
| 9 -
= 9 X 107 Sl units )

potential energy of the system. (K =

415,
“4e¢ rF'ec*wb¥ Pt & C<p. ,‘5‘“1]
@ —6x109] nC o
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A light of wavelength@ns incident on a metal having work function ¢ = % ezﬁ The
stopping potential measured for the photoelectric current setup is|2 V.JFind the value of

A[hc=12420eV A
[ C= € ] C‘Euo‘l Nq“u&, Qmﬂ

hc¢
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Two ideal diodes are connected in circuit as shown. find current through battery

A~ \,o.n. CSemicmduCJvr, Couu‘c_]
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When a force of@is applied extension in the spring is found to be x,, extension

becomes x, when the force applied is(7N) Calculate the tension in spring_when
extension is 5x,-2X, L9, Eery |
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Match the following Unitg & dimemion,
| | M sd e vaje

A. Magnetic Field
BiMagnetic Moment

— 8) M=T A
C. Permittivity of free space " A
D. Tensionai Constant LM:\ m {L‘ J

@/A-R,B-P,C-S,D-Q O -¢0 )
J

@ A-Q,B-S,C-P,D-Q
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The energy in a system varies with position and time as E(x, t) = x3 e, where 3 = 0.3
sec-l. Given that the P% error infx = 1.2 %)and that the E/o error in t = 1.6%.Find the
maximum % errorin E att =5 sec.
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